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Seven boxes P, Q, R, S, T, U and V are kept one over the other but not necessarily in the
same order. Only four boxes are kept between R and S. Only three boxes are; kept between

one of the positions above V. Only two boxes are kept between S and U”:,How many boxes
are kept between R and P? '

(A) Three (B) Two
(C) None (D) Four
(E) Question not attempted

g g P, Q, R, S, T, U &R V u% T& % T W@ ™ ¥, Aftbgoedl ol %9 § & W@ T an R
X S % S e g TR @ T ¥1Q IR T ¥ I e A gE @ T 1V, P % 9 % @M
T 3 R 1% IHF SHUX T8 | Bad Q, V % Hud @i W £1.S 3K U 9 e o s §1R o
P & &= fepe s BT 7

(A) =
(C) &
(E) ergar ued

A, B, C, D, E, F, G and H are sitting arot ifcular table. Each of them is either facing the

centre or are facing outside (oppos} 'e to the centre) H sits second to the right of G. Only
three people sit between H and B." f s second to the right of B. Both the immediate

three people sit between E and .D srts second to the right of A. D faces outside. D is not
an immediate neighbour of B*F faees inside. How many people sit between E and H, when
counted from the left of E

(A) One (B) Two
(C) Three (D) Four
(E) Questlon nat atte

¥ % % i (@
’ 'E:M:'meﬂ'{iﬂiﬁb"qﬂéﬁr%lB %Wé—%a‘lﬁwﬁﬁB%WﬁW%% G
afr{Eé\'a'r%lEWA%@HW@?W%%%A#E@W@WWD@N

(B) =
(D) =R
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Each of A, B, C, D, E, F and G visited a museum on different days of a week starting from

one person visited between F and C. Who wvisited the museum on Wedt;esday ?,
(A) G (B) B
(C) D (D) C
(E) Question not attempted

A,B,C,D, E, FaﬂTGuﬁm@aw%%ﬁqﬂﬁwﬂ%gﬁ

(A) G
©) D

(E) ergar ued

J,K, L, M, N, P, Q and R live on e1

(B) Two
(D) Three

M9_0 3 P.T.O.



Study the following information and answer the given question.

(A) One
(C) Three

(E) Question not attempted

P,Q,R S, TU, VWW@WW%WW@%%lwWﬁ%ﬁ%%WwWﬁ
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(B) =
(D) =R
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Twelve people are sitting in two parallel rows, such that each person in a row faces other
person in the opposition row. In Row I-A, B, C, D, E and F are sitting facmg orth and in
Row II-J, K, L, M, N and O are sitting facing south.
More than two people sit between M and K. M faces an immediate nelghbour of,
three people sit between F and D. A sits to the immediate left of C. N¢ithé
immediate neighbour of F. Only two people sit between M and L. N faces E.
the positions to the right of J. O faces neither F nor d.
How many people sit between the one who faces K and E?
(A) None (B) 3
© 2 (D) 1
(E) Question not attempted
Wwawwﬁ@%%%mwﬁ%@ﬂwﬁaﬁw%sﬁﬁ%w&%
®{h 93 F 1 HaR I & A, B, C, D, E 3T F IT &1 X 4% &b 93 T &Y
Hart-117 J, K, L, M,NaﬂTOa&maﬁaﬂTﬁ%Wéﬁ

Only

AR ES 1N, Eaaamﬁg%aﬂﬁaéa%lo J%E@W@Wﬂé’&%lo F 3R D % 9™ 4z
H{% Tl JoT 5|

(A) &g &
(C) 2

(E) ergar ued

nelghbours of D face tlie-sari '*’dlrectlon as D. H faces the same dlrectlon as B. H does not
face outside. Who sits, third ‘te the right of H?

(A) A B) G

©) D (D) B

% TSI & v e T A @ ¢

B) G
(D) B

M9_0 5 P.T.O.



8  Twelve people sit in two parallel rows. In Row [-A,B,C,D,E and F sit facing towards north
(but not necessarily in the same order) and in Row 1I-P. Q R,S,T and U sit faging towards
south (but not necessarily in the same order). Each person in a row faces 4 person in the
other row. A sits at the left end of the row. Only two people sit between A and B. B faces an
immediate neighbour of U. Only two people sit between U and T. P sits‘te the ifimediate
left of Q. Q does not sit at an extreme end . Q faces an immediate neighbour of C. U does
not face C. E sits to the immediate right of C. Only two people sit between Ciarid the person
who faces R. D is not an immediate neighbour of B. Who faces F?
(A) Q (B) P
©) R (D) U
(E) Question not attempted
& M b ¥ a1 @ 96 8 | da-17, A, B, C, D, EaﬂTFtﬁR T AT HE B 99 § (F& U
&l fop T B A ¥ &) s sa-II¥ P, Q, R, S, T el U £ a%afﬁg%aﬂ%é%% (S T
%Wwﬁé—%‘a)|@W%mwﬁﬁw$@ﬁw%wﬁmaﬁm%mw%aﬁr

ﬁTC%HwWﬁW%%lB%WWWD
F &% 9™ s 9313 7
A) Q

C) R

(E) ergar ued

9  The question consists of a statement foﬂowed by two arguments I and I1. Read the statement
and the arguments carefully and sefect the appropriate answer from the given options.
Statement : Children derive their, ideritify’ from their surname.

Argument (I) : Modern parentg havéforever been in a dilemma, whether to use the father’s
surname or the mother s or to use any at all.

% |

I) strengthens the statement.
1) strengthens the statement.
(C) Both (I) and: (II) wedken the statement.

(D) Both (I) and (II) strengthen the statement.

aﬁwww@twaﬂ%%l

o, WIAT—TUaT a1 gfaen ® T&d , T e T 1 SU TaNT %Y A1 AW 61 a7 Big o1 |
e A AT 379 Seal % el {99 & % T4 &% 9 o oM % 91 81 39! qre-i—
AT ATEd § 31T b HetTH bl BIS & &, Tk I8 7 Ul °el {eh e {ep wqary ¥ eife 2|
(A),, (D@7t stafe (I1) T B! FeTgQ S &
gi’(B) (1) B STaies (1) T I Felad 9w &
() A (1) 3T (I1) T %l HAI BT &
(D) <Y (I) 3% (1) 7% Y ATge T &
(E) ergar ued

M9_0 6 P.T.O.



10 Avin, Mandar, Sarang, Sarfaraz, Balram and Samir are six friends who have invested in

11

either Mutual Funds or Fixed Deposits or both. Only two friends have ng 1nvested n
Mutual Funds. Balram has invested in Mutual Funds and also Fixed Depgsits;
other friend has invested in both Mutual Funds and Fixed Deposits. Sarang has not mvested
in Mutual Funds. Samir does not have Fixed Deposits. Sarfaraz has mvested in orify one of
the two. Mandar has invested in only Fixed Deposits.
Who other than Balram has invested in both Mutual Funds and Frxed Dep
(A) Samir (B) Sarfaraz
(C©) Avin (D) Mandar
(E) Questron not attempted

over by their CEO, Mr. Trivikram. The VE, of th ompany, Mr. Avinash reports only to the
CEO and manages the Production and Marketrng Departments Mr. Vikrant is the HR head
nployée§ from various departments report to their
f Admin department reports to Mr. Vlkrant The

Deepak are from the HR deperlt The head of Art department and the head of Design
department report to Sriram who 1s the head of Production department. Rosy is the head of

d rtment?

Who heads the Mark
(A) Sriram
©) Rahul

(B) Sandeep
(D) Deepak

..g;EOaﬁﬁqﬁééﬁ%lﬁﬁmﬁrwﬁ%wﬁaT&mﬁwﬁaﬁmw%%gaﬁw
T 1 33 St Taeera @! TLare &ear 3| SamRe faam ofiR A e faamr &1 53 4
TE el & | frarit ofik Gue HR fom 9 ¥ | &1 framt &1 g2 $fR fSeiige faum &1 82
BT &, S SUTET [T &1 28 & | UET T 9T &) 28 & | 761 o1re 1w
’ ’ ﬁmﬁmﬂaﬁﬁqﬁw%lﬁéﬂu%ﬁsﬁﬁrwm%‘é

(B) =i
(D) <
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Seven girls travel from Mumbai to either Pune, Bangalore, Indore or Kolkata by bus, train
or flight respectively. Not more than two girls travel to the same city. Only ong girl travels
by flight. Shweta and Madhura travel to the same city but by different modgs o
Farrah travels by train to Indore. Only one girl travels to Kolkata, by train. Only two glrls
Madhura and Deepa travel by bus, but to different cities. Kalpana travels'to Bangilore but
not by flight. Rani travels to indore. Amruta does not travel by flight. Shweta uses the same
mode of transport as Farrah.

Which Girl-City-Mode of transport combination is correct?
(A) Kalpana - Train - Bangalore (B) Madhura - Train -*
(C) Rani - Bus - Indore (D) Deepa - Buség-""
(E) Questlon not attempted

T | 9T, HXTE ST & UfEE &l TaNT B |
B T TSh]— MBI &l TIoT Tl & 7
(A) AT - T - AR
(C) T -39 -3<
(E) ergar ued

Study the following data carefully and’ 1:the question that follow.

#8ked fof their preference of fragrances from Musky,
they used them in either Perfumes, Deodorants or
..Jens“asés deodorant in Aqua fragrance. Only one man
amongst them used Talcum. T iene, Prasad and Vighnesh preferred a woody fragrance but
used it in three different ways each Robert uses deodorants. Nazem and Carlos prefer the
Cigar fragrance and use it<tfi twi“different ways each. Only one man likes the Musky
fragrance. Eddie prefers the same: Afragrance as Jens but does not use it in deodorants. Tuene
and Nazem do not use deod@rants or Talcum.

Who amongst the eight men.prefers the Musky fragrance?

(A) Prasad (B) Vighnesh

(C) Tuene (D) Robert

(E) Question nat attempted

forfeiiae Ter o Tt wfed ot 3o 0 R wew @1 wat v

@Wwﬁsmwﬁm‘rﬁwﬁ g2, Uehal Ua R &l Gorer sl qrerfiieha % T g7 71T o1 9re
I ST SUGHT AT A TR, NS AT T@hT &b T F B 8 | TH1E S3MST SN BT & | 5

e é’raﬂqu‘mwm%lwuﬁmqm@wﬁﬁﬁwwwmlaﬁ TETR 3T
’Haﬁm&ﬁwé’rmmﬁsﬁeﬁﬁmaﬁ%ﬁwmlﬁaﬁé’raﬂmm

3 Wlaﬁﬁ#ﬁwé@mmwmﬂé’raﬂ%

éiéimaﬁ%m‘rfr@raﬁ?waﬁgwmw%?

A, IS (B) fomiar
(C) (D) =E
(E) ergar g

M9_0 8 P.T.O.
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Study the following data carefully and answer the question that follow.

Eight men from a Yoga group were asked for their preference of fragrances.
Woody, Aqua and Cigar and whether they used them in either Perfumes, Deodownts or
Talcum. Prasad uses deodorant. Jens uses deodorant in Aqua fragrance Only ohe man

) s the Musky
leodorants. Tuene

fragrance. Eddie prefers the same fragrance as Jens but does not uset, i
and Nazem do not use deodorants or Talcum.
Which of the following Person - Product- Fragrance combmatlon
(A) Eddie - Perfume - Aqua (B) Carlos - Perfume ‘Ci
(C) Robert - Deodorant - Musky
(E) Question not attempted

@Ww%mwﬁm‘rﬁwﬁ 3, ww%ﬂﬁ'@aaﬁmaﬁw%mwwwaﬁ
%mw&‘mma‘rw é’mﬂmmwﬁwﬁ@w%’mﬂmeﬁww%lﬁﬂw

(A) =2 - TgH - THAT
(C) AT - ST - THH!

(E) aﬂﬂﬁ‘d RS

A%Wﬁﬁﬁ%ﬂ%ﬁﬁm@‘ﬁﬁ%mmﬁ%
A(B) A A e @l % for % 2 ) et ®
(O) & ooz @lied % 9 A % w50 T S
).l i A% @ e wliey ¥ g wata 4 R ¥
(E) srgafed we

M9_0 9 P.T.O.
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A batsman played (#+2) innings and got out on all occasions. His average score in these

(n+2) innings was 29 runs and he scored 38 and 15 runs in the last two inningg” Fhe batsman

scored less than 38 runs in each of the first # innings. In these 7 innings, hlS average score

was 30 runs and lowest score was x runs. The smallest possible value @f is
(A) 2 (B) 3
© 4 (D) 1
(E) Question not attempted

T Teerd s+ (n+2) 3 Well 37T e THY Sree gl g9 (1
X SE offem ot g o 38aﬁT15waﬂT&|aﬁ—srﬁr%r;r ngﬁwfﬁ 38 T T &Y &I WX TS
g & fopan 1 37 n3a Waﬂﬂaﬁﬁ?30wwaﬂrwsﬁ1xwmmaﬂwﬁaw

A) 2
€ 4
(E) ergar ued

The value of

43
B) 77

41
D) 77

(E) Question not attempted / 3TN U

10 P.T.O.



18 A rectangular grassy plot is 38 m long and 32 m wide. It has a gravel path of uniform width
on the inside having an area of 600 m2. The width of the path is:

(A) 3m (B) 5m
(C) 10m (D) 18.75m

(E) Question not attempted

Qaaamﬁwr{wao‘rﬁmﬂ38%@@132%%%|WW@¥W%§WWW%
fsTaeT &erea 600 e ¥ 1y &Y e’ @

(A) 3 X B) sdex
(C) 10 (D) 18.75 %
(E) orgaia e

19 The 5t and 9t terms of an arithmetic progresswn are 7 and 13 respectively. What is the

(A) 22
(C) 55
(E) Question not attempted /

20

ﬁ—gmmmwmw%quﬁwmmmw A1 7 o o o
S ST § e gRagé R di e &, @i = fred < s s 7

(A) 10.2% (B) 12.1%

(C) 12.3% (D) 11.1%

(E) Questiomno'%*atl;emﬁpted / AN U9

(B) 54
(D) 72

(E) Question not attempted / 3TN U
M9 _0 11 P.T.O.
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A motorboat moves along a straight line path along a river bank from point A to point B. If

e & 7
3
(A) \/;

©) 3

(E) Question not attempted / STIART UF 'A

Simple interest on a sum of ¥ 12
X 1130 for the same period. Whe

2 91 % forg % 1230 @ Tfir & wmwwm%m? e
31fYren & | GrYTeT ST 8 4T

(A) 5%
(C) 8%
(E) Question not aftelqpted / S U

2 years 1s ¥ 10 more than the simple interest on

g;ﬁplicable rate of simple interest?

(B) 6%
(D) 2%

A river, 2 m‘dee and 45 m wide is flowing at the speed of 3 km per hour. The quantity of

S mto the sea per minute is:

ety o 45 e e & o 3 feh st o oy & < ¥ g A ey e e

(B) 3000 m3
(D) 27000 m3
(E) Question not attempted / 3TN U

M9_0 12 P.T.O.
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27

A stock of food is enough for 240 men for 48 days. How long will the same stock last for
160 men?

(A) 54 days (B) 60 days
(C) 64 days (D) 72 days

(E) Question not attempted

240 smefrEr & faq 48 ST q@ AT %1 SR 1aT ¢ | 981 WK 169&@&%%@%%%

(A) 54 & a
(C) 64T a®
(E) ergar ued

The greatest number among 26, 348, 436 and 524

260’ 348’ 436 3fr 524 % 99 999 Elébf . ' £

(A) 260 () 348
(©) 4% (D) 5

(E) Question not attempted / :

The average height of thie basketball team A 1s 5 ft 11 inch and that of team B is 6 ft 2 inch.
There are 20 playerséin, 1 n‘A and 18 players in team B. The overall average height is-

(A) 72.42 inch (B) 72 inch

(D) 70 inch

(B) 72w
(D) 70%a

13 P.T.O.
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A two digit number is five times the sum of its digits. If 9 is added to the number, the digits
interchange their positions. The sum of digits of the number is :

@ﬁaﬁaﬁmmmﬁ%ﬁﬂmww%mﬁmﬁ9vﬁgﬁmw% a‘raroﬁeﬁww
Sad W ¥ | T % Sl BT A §

A) 11 B) 9
<) 7 (D) 6
(E) Question not attempted / 3TN U

years gnce( both in years) 1s 15.

The product of Rajeev’s age 5 years ago with his age
Rajeev’s present age is:

(A) 6 years
(C) 9years

(E) Question not attempted

ed, a man 1s 1% hours late. His usual time to cover the same

(E) Question not attempted / 3TN U

14 P.T.O.



31 Study the graph below that shows the consumption of different packaging materials by the
Food and Beverage industry and answer the question that given below :

el o T et ® e vd 9w g fafir AT arl o SuaeT e agiEn T A e
g9 1 B AR |

. Food I:I Beverages

(E) Question not attempted / STANT U9

M9_0 15 P.T.O.



32 Study the following graph and answer the question given below it.

e U T wEis &1 aremae ity o) A g w9 @1 S difiy ¢

. Food I:I Beverages

40 -
35 -
30 -
25 -
20 -

16.8

15 +
20q@ <
5 ]

Aluminium

Approximately h
items?

(E) Question not attempted / 3TN U

M9_0 16 P.T.O.



33 The line graph shows the road accidents in three different cities in India. The Y axis in
graph represents the number of accidents. In which year, the difference between the acc1dents
in City A and City C 1s minimum? : i

T T T WA o I STERT—3TeT el § g5 ASh Ui bl i ¥ | =ifed gen
T Y aver aofan ¥ 1 R A & ot A @it 9rex C & gt % v @t s

1580

130 »
18 b
g Lo
110 £ /f /
1 * L
g0 e A 7

& '

7i

i

Number of road accidents

‘095 14 04 Uu 09“ 0‘3/ 098 099 #
Yeaary
el Oy A e Gty B e Yy O

(A) 1997
(C) 1995

(E) Question not attg pted / aﬂﬂﬁ‘d EER]

(B) 1996
(D) 1994

(B) 48
(D) 50
(E) Question not attempted / 3TN U

M9_0 17 P.T.O.
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36

37

Total 25 students appear for an examination. Rahul and Mohan are among those 25 students.
Rahul scores 98. The average score of the 24 students other than Mohan is 48=he average
score of all the 25 students is 2 more than the average score of 24 students other# n Rahul.
How much Mohan has scored?

Q%T&mﬁwzsmw&wsﬁ%nwzswﬁﬁwwwﬂﬁswiﬁa%mgfrwa%m%%l
Wire % ST 31 24 B B oirad @Ik 48 ¥ 1@ 25 BN &1 3iEd SR TEH Hh
% aired @ A 2 otk ¥ 1 e o R whiT v ¥ 7 "
(A) 72 (B) 86
(C) 98 (D) 82
(E) Question not attempted / 3TN U

The parents have m number of children. The average'g ge 0' ather mother and m children

number m (numerical value) 1s -

AU % Sl %l gedr m 2 | T, waﬂTmm‘a‘raﬁ
HﬁTaﬂTmWaﬁaﬂ'ﬂﬁmm%IWm
(A) 3
© 1
(E) Question not attempted /

Aq 3Tg 20 ¥ | T 1 oy 48 a9 ¥, 8
AM) feper 37

(A) 10
(C) 8

(B) 2.7
(D) 7:3

(E) Question not attempted / SN T

M9_0 18 P.T.O.



39 A mother has decided to sum and product the ages of her children Ishan and Anushka. The
sum and product of their ages are 18 and 56 respectively. The solution of whiith quadratic
equation gives the possible ages of Ishan and Anushka?

@ﬁ%mﬁ@aﬁémﬁﬁm@waﬁmaﬂaﬁaﬂ%aﬁ?wéﬁaﬂﬁmﬁ )

qATE?
(A) x%+56x - 18=0
(C) x%+ 18x —56=0

(E) Question not attempted / 3TN U

40  The product of Vidhi's age (in years) three yeits ago an

her age five years later from now

is 1 more than twice her present age. Vidhi's age(in years) 1s -

& A 1 o ¥ ) ffer e o ‘ot ) PR 3 7

(A) 4

C) 8

(E) Question not attempfé 4/ o o

41 X is a% more th Y and Yisb%lessthan Z. If X >0, Y >0, Z> 0 and X > Z, then the
relation betwgen a atid’D is -

of e YR Y, Z A b% B 1A X >0, Y >0,Z> 0w X > Z, d a &l b o

(B) 100a>Db (100 — a)

C) 100a>b (100 + a) (D) 100 a<b (100 + a)
(iE) Question not attempted / SN T

M9_0 19 P.T.O.
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43

44

The ratio between the prices of two bicycles is 15 : 26. If the price of first is increased by
10% and that of second by ¥ 550, the ratio between the prices becomes 13 : #7

the initial prices of the two bicycles?

(A) T 7359 and T 3652 (B) 4290 and T 7436
(C) %4719 and T 7986 )
(E) Question not attempted
3 et st 3 et o 15 < 26 % et 35 7 8109 ) g gl 3 82 550

(A) 7359 3fvT 3652

(C) T 4719 3t T 7986

(E) ergar ued

% 1200 is divided among X, Y and Z such t? 30 more than 3/5th of X's share, ¥ 10 more
than 2/5t of Y's share and T 20 more than 5/7 of Z's share, all are equal. What is Z's share?

T1200 % X, Y R Z ¥ =9 v faO Tonar STraT & fop X & 9T & 3/59 @ 330 siftres, Y &
wmaaz/séf@réloarmaaamzaf’wm” 5/7% =TT & X 20 siferes, @l i ¥ 1 Z 5 v e 7

(B) %560.175

(A) ¥299.698
(C) 340.116

(E) Question not attémpted/ srafa usT

(D) % 134.07

Ram and Shani toge’thé"iflhave ¥ 285. If 2/3' of money with Ram is equal to 3/5th of money
with Sham, then"what is the money with Ram?

T 3T Tﬁ?ﬁ?ﬁi&[@?{ﬁlﬂﬁ'{?285 TI1AfE AWM b U °F BT 2/3 W b U €9 H
3/5 % ST & 1 T % R Pe o ¥ 7

(B) %200
(D) %135

(E) Question not attempted / 3TN U

M9_0 20 P.T.O.
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47

Two busses are at two different places 76 km apart. They start moving towards each other.
If their speeds are 20 km/hr and 18 km/hr respectively, after how much time sw' 1 they meet
each other? ¢

(A) 2hrs (B) 2 hrs 50 mins
(C) 3hrs (D) 2 hrs 30 mins
(E) Question not attempted

T 76 TepHT Bl T T AT STT— WWW%@@{@#W@@%W vﬂﬁ'ﬁﬂ%ﬁﬂo‘ﬁﬂ
20 fepelt wier =ier ofix 18 fopelt wiey =ier &, ot & wp- gﬂ%@fﬁﬁ%wzaﬁ‘:ﬁﬁﬂﬁ?

(A) 28 (B) 2% 50 fiFre
(C) 38 (D) 2 a% 30z
(E) ergar ued '

40 km/hr. The length of second train is 170 m. If th
1s the speed of the second train?

(A) 248 km/hr
(C) 100 km/hr
(E) Question not attempted

a1 o Tl feon 7 = @ ¥ | veel &
@l wars 170 #ex 1A 9 T
(A) wfi wier 248 Frh
(C) T &= 100 Frsr

(E) ergar ued

15.%@%@31@@@%40%%.@%
S o U B!, A gAY < Bl T T 7

(B) wh =t 320 el

(D) wh =1 160

1400 km in 80 days resting 10 hours a day. If he rests 16 hours a
imes the previous speed, then in how many days will he cover

(B) 20 days
(D) 50 days

[ grierieT 10 = S 3 5 80 T o 1400 fobedt bt O o et ¥ 1 4 o1 wietfet 16 %52
T SR st it | 2.5 T 1 | T 3, @ g 1000 f6et 7 3 fepa i & ey spm 7
(B) 20 R
(D) 50 &

M9_0 21 P.T.O.
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49

50

A fraction becomes 3/5, if 3 is added to both numerator and denominator. And it becomes

1/2 1f 5 is subtracted from both numerator and denominator. What is the frac;:

a%wmﬁ?‘ﬂaﬁrfrSﬁ%ﬁmmﬁ@ﬁﬁr%ﬁaﬁ%laﬁaﬁﬂﬁﬁﬁ
ST I 12T Az IR s?

(A) 21/37 (B) 7/9
(C) 49/67 (D) 9/11

(E) Question not attempted / 3TN U

There are three fractions. When the largest fraction 1 divid'#, by the smallest fraction, the

result 3/5 1s greater than the middle fraction by 1/3 f the sum of the 3 fractions is 32. What

fepa strar ¥, av afony 3/5, weg = @

1/3 oiftrs 9 1 a3 Pl apr AT 32,3 | el Wt i mer e 35 ey R o @ ?

(A) 142/13  (B) 109/120

(C) 69/25

(E) Question not attemp ed / T we

(D) 49/40

The product of twé-fractt As is 5/4 and their quotient is 4/20. If the denominator of one

fraction is 2/5 times that of the denominator of other fraction, then what is the sum of the

two fractiong

a‘rﬁqv—vﬁzﬁr’w ff/4%WWW4/20%IH%@WW%T{HA{W%%TW2/SW%

(B) 6/5
D) 1

(£ Question not attempted / arafea wes

M9_0 22 P.T.O.
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52

The sum of numerator and denominator of a fraction 1s 5 less than thrice the denominator. If
the numerator and denominator are decreased by 2, then the numerator bec@  half the
denominator. Determine the fraction.

e =T awsmﬁaa&ra‘maéaeﬁ#gﬁ@r5w%laﬁ'aﬂaﬂ?aﬁ@rzwﬁmm*a‘mﬂa
T 1T &1 ST § | = i sk

(A) 47 (B) 4/3
©) 5/9 (D) 3/4
(E) Question not attempted / 3TN U

Direction: In the following question assuming the giveﬁ nts to be true, find out

which of the following two conclusions is definitely gfiie:,

Statements :
0>S§5,C<D,S<D
Conclusions :

I. 0O<C

II. S<D

(A) Only conclusion I is true
(B) Only conclusion II is true
©)

Either conclusion [ or con

M9_0 23 P.T.O.



53 Direction: In the following question assuming the given statements to be true, find out
which of the following two conclusions is definitely true.
Statements :

G=C,P>G C=D

Conclusions :

. D=G

n C=P

(A) Only conclusion I is true

(B) Only conclusion II is true

(C) Either conclusion I or conclusion II is true

(D) Neither conclusion I nor conclusion II is true

(E) Question not attempted

ﬁé‘sr %mmusﬁﬁmmmwﬁwwwmﬁr 1 2 1 et & <1 el qofcrar s
&YT ¢

G=C,P>G C=D

gt :

. D=G

n C=P

(A) Haa ey [aa ®

(C) ardr o 1oy frepd T aw 3

(E) ergar ued

54 Direction: In the following ques
which of the following two conolusm
Statements :
A>J],C=Y,1>C
Conclusions :

. Y>J
I A>Y
(A) Only conclusio
(B) Only conclustén 11 ig:drue
(C) Either conclusmn E or conclusion IT is true
(D) Neither concluswﬂ I nor conclusion Il is true
(E) Questigtraot attempted
Frdor : ) T Al fo T e Y W W ST, Fre F @ o6 @ e iwan w ¥

B) Wﬁw&ﬂw%
1 v ey 157 € foreed [T ga %

suming the given statements to be true, find out
definitely true.

(A) 3 (B) et el 11 &g &
(@)1 forepe [ ar e 11 e 3 (D) = e 171 & frreed 11 e 3

(E) AN 99T

M9_0 24 P.T.O.
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56

Direction : Two statements are given below followed by two Conclusions I and II. You
commonly known facts. You have to decide which of the conclusions, if any, fc}llﬂws from
the given statements.
Statements : No quadrilaterals are polygons.
All polygons are thombuses.
Conclusions : .  Some rhombuses are quadrilaterals.
II.  Some rhombuses are polygons.
(A) Only I 1s correct. (B) Only Il is cor:
(C) Both I and II are correct. (D) Neither I noz 1T i
(E) Question not attempted

PR o S R T e 3 1 @ Rrepd 1 i 11 g e ¥ o

2|
FA HIS Wl A TS TR ¢ |

Tl TSI SHagy ¢ |
g : [ 3B avagys 9ggs |

II. %% 9aagys 9g4qsil ¢ |
(A) wad [ a8 2|

(C) Iwa I3l & | &
(E) ergar ued

Direction : Two statements are givg
have to consider the two statemgnts to.pt true even if they seem to be at variance with
cide which of the conclusions, if any, follows from

'Hé’raé’r%n
[T & LT 7

(B) Only II is correct.
(D) Neither I nor II is correct.

(B) o 1121 w81 ¥
(D) Fdr e & I )

M9_0 25 P.T.O.



57 Direction : Two statements are given below followed by two Conclusions I and II. You
commonly known facts. You have to decide which of the conclusions, if any, foﬂows from
the given statements.
Statements :  All good hockey players are in the Indian hockey teanf

‘X’ 1s not a good hockey player.
Conclusions : I. ‘X’ 1s not in the Indian hockey team.

II. ‘X’ wants to be in the Indian hockey team.
(A) Only I1s correct. (B) Only Il is correct.
(C) Both I and II are correct. (D) Neither I not.II i 15 correct.
(E) Question not attempted
a1 :— e fu 1Q et o w1a <1 frhd 18T 11 few 7 € ) &
Waﬁwaw‘r@fmﬂﬁw%ﬁ%laﬂwﬁﬁﬂhw%‘
2|
FIA U] 3T B! RgeTe! AT 81l 217 H 3 |

X’ aremt B Rawtel T %)

e [ X AR sl <W o Rl 2

*ﬁwﬁaﬁa@rqﬁm%aﬁ%
o g1 el % e 4 Froad W

I X’ AR gl &9 0 o aicitis | °
(A) o I & 98 2| (B) %A L& = ¥
(C) Iwa I3l & | & . (D) A ar & 7 2 1L E&l §)
(E) ergar ued

58 Direction : Two statements are git elow followed by two Conclusions I and II. You
have to consider the two statements t6-Fe true even if they seem to be at variance with
commonly known facts. You héve t dec1de which of the conclusions, if any, follow from
the given statements. #
Statements :  Some scalés are pencﬂs

Some erasers are ‘pencils.
Conclusions : 1. 1

(A) Only I 1s correet. (B) Only II is correct.
(C) Both I and H are correct (D) Neither I nor II is correct.

fs;(A) S LA W B (B) et 1181w &
(6T wat 113 & &8 ¥ (D) Fdr e & I )
(E) ergar ued

M9_0 26 P.T.O.



59 Direction : The statement given below is followed by two arguments, numbered I and II.
You have to decide which of the arguments 1s ‘strong’ and which 1s ‘weak’
Statement :  Should the incharge of all the police stations in the country

every two years?
Arguments : 1. No, this will create a lot of administrative hassles g
a lot of inconvenience to the police officers.
I.  Yes, this is the only way to eradicate the nexusbetween;;po ice officers
and anti-social elements.
(A) Only Argument I is strong (B) Only Argument
(C) Neither I nor II 1s strong (D) Both I and I¥are;
(E) Question not attempted ,, ’
e« e foq T ot & w1a 1 aeitel < ¥ e ot aﬁﬂﬁrwﬁa EEICHICIRERCIE
B FHAR
I T S H AT e Rl b THRI T < Aol W S|
W L TR, 9% ga AeEiTe T 3T S v a%

~a:g}sferred

also Will create

t 11 18§-strong

SR Ft o orgRre

ﬁat HET|
T
(A) %ad A | THELTET T (B) e Tee 1 gasTe &

(C) a3 & Il yorasmel &
(E) ergar ued

60 Direction : In the following question-two st ements numbered I and II are given. There
may be cause and effect relationsHip between the two statements. These two statements
may be effects of the same cause or indepgpdent causes. These statements may be independent
causes without having any relafionship. ‘Give answer.

I.  The life today 1s too fast, demandmg and full of variety in all aspects which at times
leads to stressful slttl'atlon
II.  Number of sulclde,::',causegs among teenagers 1S on increase.
(A) Statement I is the cause-and Statement II is its effect
(B) Statement II is thie gause and Statement I is its effect
(C) Both the Statemetits, I 4nd II are independent causes
(D) Both the statements Fand II are effects of independent causes
(E) Question not, attempted

féen %%gmqsrs """"""" Hq e, T S 1T 0 %1 557 <1 el o i 72 e 0ol Sfer &t et

(D) ej*;ﬁ [ w11 grargmet &

( )El'??Fr I v e 11 91 Tl Il T 3T & |
(E) ergar ued
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61 Direction : In the following question two statements numbered I and II are given. There

may be effects of the same cause or independent causes. These statements may be mdependent
causes without having any relatlonshlp Give answer.
I.  There has been a high increase in the incidents of atrocities agal"
city during the past few months. :
II.  The police authorities have been unable to nab the Culpl‘ltS' who
crimes against women. ; :
(A) Statement I is the cause and Statement II 1s its effect.
(B) Statement II is the cause and Statement I 1s its effect.
(C) Both the Statements I and II are independent causes.
(D) Both the statements I and II are effects of 1ndepende
(E) Question not attempted
frden : 7 forg g we o <Y &, 1 ofR 11 g 7 ¥ 1377 &1 %] & ST Ue W 6 3 1 It
BT T BIOT AT T BIOT BT THE & Tl & | Y B ”Wwaﬁawwéaﬁ%l
T A | i
I e o5 98 T % e smﬁqﬁwaﬁﬁsﬁquwaﬁmaﬁﬁﬁvﬁ%q&gﬁ%l
II. Wﬁwwmﬁﬁaﬁmﬁﬁmém%aﬁqﬁwaﬁ%ﬁmaw@%l
(A) e [ BT $ IR B9 11 39 990 31 ¢
(B) ¥ Il &R & 3R %IF | 3HHT Y9G 3
(C) @u 1 ud &ae 11 ST @l dRer g1
(D) wu= 1 wd o 1 M1 w@d= Bl &t

(E) ergar ued

62 Direction : There are five doctor

t women in the

Wherever there is a male doctor there will be a female teacher.
Wherever there is a male engmeer there will be a female doctor.

If the team consists of twédoétors, two female teachers and two engineers, all the following
teams are possible.éxcep
(A) 12KLPQ
©) 12GHOQ

(B) 12GHPQ
(D) OPGHI2

' goy fitere el B |
;§§faﬁ'éﬁtrfra“r%rorzﬁ a‘rqﬁwﬁm'oﬁ 3T a1 ST =, O gt Ffaiaa S dwfed ¥ feamr —

A) A2KLPQ (B) 12GHPQ
(C) 12GHOQ (D) OPGHI12

(E) ergar ued
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63 Which number is in the square, ellipse and triangle?
af, g ot Bryet o & @ e § 7

7
3

_.
)
w
©
=

A) 1 (B) 5
€) o D) 7
(E) Question not attempted / 3TN U

64 In the given figure, P is 300 km eastward of O and Q,#s4 O knat* north of O. R is exactly in
the middle of Q and P. The distance between Q and R is | i

North
A
Q
R
0 » FEast
(A) 250 km (B) 15042 km
(C) 300 km (D) 350 km

(E) Question not attempted i
é’rﬂémwﬁrﬁpoaso@wt{éﬁ%aﬂu) O % 400 fFf ST F ¥ R, Q oiX P % di% =g A
}QIRRF S Fh ¥

(B) 1502 feeht
(D) 350 freit
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66

67

In a college party, 5 girls are sitting in a row. P 1s sitting to the left of M and to the right of
O. Ris sitting to the right of N but to the left of O. Who is sitting in the middle?

QaaaﬂﬁvvrwrﬁfrSag%mwwﬁﬁﬁéﬁ%lM%ar&aﬂTaﬂTo%m@raﬂTPéﬁ%lR
3T olfeeT O & a1 S 1S H BT Y1 & 7 g

A) O (B) R
€ P (D) M
(E) Question not attempted / 3TN U

<

Which of the following diagrams represents a relationship betwe cn players and footballers?
frrfafaa & & = @1 s Raafeal ot peaiadl & g'H ua&rwﬁﬁﬁaw%?

Direction : Examine the foll@wmg S“tatements and answer the question that follows.

Out of four friends A, B, ¢ and D A and B play football and cricket. B and C play cricket
and hockey. A and D pf ball and football. C and D play hockey and basketball.

Which game is comr"ﬁcw. Cand D ?
(A) Basketball
©) Cricket

(B) Hockey
(D) Football

AT T ST T HY 37T Prefad 5o B oe ¥ |

, C 3t D & 9 A 83X B geaid 3 fhhe @@ & | B 3 C fohshe 3T 2fanl T & |
Zqia 3T peara gad & | C 3 D gfe! it Sehedid gad ¢ |
j;paavrm@aaam@aa%?

(B) wiwt
(D) gesid

30 P.T.O.



68 The age of Amit is same as Sumit because they are twins. Richa is younger than Sumit.
Richa is younger than Jyotsana but elder than Saurabh. Sumit is younger than Jyotsana.
Who is the eldest among them?

(A) Amit (B) Jyotsana
(C) Richa (D) Saurabh
(E) Question not attempted )
mﬁaaﬁmgﬁﬁ%w%mﬁ%%w%lwgﬁaﬁzﬁﬁ%lwwz B & At T
Y 931 ¢ | T S ¥ BT 3| 399 | 999 951 DI § 7 ; "

(A) ot (B) <ar@T
(C) == (D) €+
(E) ergar ued

69 If 'THEN' is written as 'RLBS', then how w111 'CASE ._,,e wmtten in that code ?

(A) AEP]
(C) EPEP
(E) Question not attempted / FFafkd 77 *

70 Deepak said to Nitin, "That boy playing"w h.the football 1s the younger of the two brothers

(A) Son

(C) Cousin
(E) Question not attempted
éﬁw%ﬁﬁ?@faﬁr a's'aw&ﬁ@w@?rm% e T QT 1 I bl o127 b &1 Aigdl 9 Bler s |

(B) Brother
" (D) Brother-in-law

(B)

(D) drem

(B) East
(D) South-East

B)
(D) afor—qd

P.T.O.



72 Which number will appear on the face opposite to 1?
1 % Tqoid Beeh U dlF—a1 36 S ?

P
(i) (ii)
(A) 6 (B) 5

<€) 4 (D) 3
(E) Question not attempted / 3TN U

73 If JUICE' is coded as '19-41-17-5-9', then 'TOY" will be Goded
af TUICE' & '19-41-17-5-9' % ®u ¥ shifsa fpar siwan %a‘r
(A) 39-29-49
(C) 13-23-3
(E) Question not attempted / 3TN U

74  In the following sequence of instructions, 15tatids for Run 2 stands for Stop, 3 stands for

will come next?
4.45453.453,1,453,12.4.545.4
(A) Wait

(C) Stop

(E) Question not attempted -
e & Frfafaa wa o lﬁ%%rwﬂcbd% 2 &bl BT Gobdl &, 3 ST &l Hebdl &, 4 I3 BT Wb &
ofre 5 whven % e @t ¥ | afyae FE T ot o w-ar Prfer s ?

44,5 4,5,3,4,5,3,1,4,5,3,1%‘ 4,5,4,5,4,5,3,4 5.3

(A) AR & (B) e

(C) Tl (D) <=t

e age of Madhav ten years back?
(B) 45 years
(D) 50 years

(B) 45 7§
(D) 509

32 P.T.O.



76 Below are given a set of analogies. Which of these analogies are NOT appropriate?
1. Ocean : Pacific :: River: Nile
2. Zoology : Animals :: Cardiology : Brain
3.  France : Europe :: China : Australia
(A) Only2 (B) Both 1 and3
(C) Both2and3 (D) Only 3
(E) Question not attempted
e SFTTEUATS %1 U He e T § | 5T | BT SgEadi F
1. e : gend o ;A J
2. WOl TS gl wisArsi © ARaes
3. WiF:gAT = A
(A) %aw 2
(C) 2333t
(E) ergar ued

77 “What would be the next two terms:n tl
hhhLL, ........ 7

(A) 1PPP and qqqVV

(C) 11QQQ and qqqWW -
(E) Question not attemp

&1 et sf & o
(A) 1IPPP &R qqg¥V
(C) 11QQQ #it 4gaWW
(E) agafe e

given alphabetic series: bbCCC, cccEE, eeHHH,

(B) 1MQQ and qqWWW
(D) PP and qqVVV

—J 81 : bbCCC, cccEE, eeHHH, hhhLL, ........ 97
(B) 11QQ 3k qqWWW
(D) NIPP 3R qqVVV

78 d be the 9t term in the given alphabetic series: zYw, xWu, vUs, tSq, .... ?"
" 33 o7 AT § 947 Ug HI-|1 B : zYw, xWu, vUs, tSq, ....... "
( (B) ‘]Ig

(D) fTp

(E) '#Question not attempted / STFTIT T
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79 In a coding scheme, each letter in a word is written as a letter after shifting N positions
ahead in English alphabet, where N 1s the number of vowels present in the word’." or example

is coded according to thls scheme. The resultant is again coded as per { thls

on, this process is repeated for 10 times. What will be the final coded wor

g, W@CEU%wﬁﬁﬁamwlwwawmsmLOUl w%lsﬁsa?:ﬁw
wi%wa?rwaﬂaﬁmw%lgawaﬁ%%mgwmﬁﬁama?ﬁ HTE?ITH?

(A) HOYPX

(B) PSAMJ
(C) SNJZK
(D) QTZNI

(E) Question not attempted /

80 “Inacoding scheme, a word is :ﬁbded as product of positions of its letters in English alphabet.
However, for the purpose of: caloulahng product, only unique letters are considered. For
example, in word FELL ould ‘be considered only once, and code would be 360. Which

(E) Question not attempted / 3TN U
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82

“In a family of six persons, two are males and remaining are females. The members are P, Q,
R, S, T and U. There are two pairs of father and daughter in the family. S is wife:0f Q. R and
Q are siblings. P is wife of T. U 1s NOT daughter of S. Below are given a few’statements.
Based on the given information, select which of the statements is/are deﬁmtely trile.

1. The two male members of family are Q and T. "
2. Sis mother of P,

3. Tis also a sibling of Q.

4. T 1s uncle of Q.”
(A) Only 1 is true (B) Only 1 and 2 are true
(C) Only 1, 2 and 4 are true (D) Only 1 as i
(E) Question not attempted

e e 35 TR 3 2 g ¥ o s e ¥ B, QK. S, T ofre U ¥ e & o
o T % R ¥1S, Q @l el ¥R ok Q WX ¥ 1 PLA wett ¥1 U, S A g @ ¥ 1 3m
%I &g 7Y ¥ 1 &1 T TSN % STUR W -9/ B ﬁ%w@ra@r%/%gﬁm

1. uftEr % 3 gov e Q o T ¥ :
2. S, PHrumrdl

3. T, Q& Uk 9elel |l |

4, T, Qowamrgl’

(A) o 1882 () Faw 1 a2 wdr
(C) ®am 1,2 dq 49 ¥ (D) &aw 1 i3 a8 e
(E) argaia ued

“Mala is sister of Harish. Hatish Tias two daughters: Reema and Seema. Reema is married to
Satish. Rekha is mother of Satisfi Below are given a few statements. Based on the given
information, select whu‘:h of the ‘Statements is/are definitely true.

2. Rekha is mother-in-law of Seema.

(B) Only 1 and 3 are true
(D) 1,2 and 3 are all false

2. @, xﬁmaﬁw%l

(B) %aw 1 X3 T2
(D) 1,2 3R 39 Taq &

M9_0 35 P.T.O.



83 Omne evening, while returning from college eight friends A,B,C,D,E,F,G and H went to a
rooftop restaurant. They sat around a rectangular table, parallel to each othel:, ur on each
side. Their seating arrangement 1s described below:

(1)  A’s shadow fell to the left of D. (i)  C sat between A and B
(1) H sat in the north-east direction of A.(iv) E sat between G andggF

(A) North-West (B) South
(C) North-East (D) East
(E) Question not attempted

s fitsl A, B, C, D, E, F, G &iR H % 9T 1 ietst § @
T % TR T ST 3 % a1 SRS &, fﬁraa
THUBA S

() A®BETDF IR R T T
(iii) H, A% g feem & Far1 31 iv)
(v) G B%damam T8 1% iR E, A% dw aé’ré\?sr%n
gfe G 3l D YR@R ST W seerd §, ar
(A) war—ubm
(C) wE—qd

(E) ergar ued

84

B) 9
(D) 16
(E) Questlon not attempted / SR 997
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86

“A cube of side length 6 cm 1s painted red on all its sides. This cube is cut into smaller cubes
of side length 2 cm. On each of the smaller cubes, the unpainted sides are pamted green.
Each of the smaller cubes is now further cut into cubes of side length 1 ¢m.#Hos
small cubes of side length 1 cm will have exactly 3 of its face coloured.green?” -+

6 YU ST AT T T % T el BT I TT Y TN AT |3 A B 2 A G qrme-we w
o TSI ST & | Wedeh 1< 8 I G 7Y Fedeh Tetebl bl 8¢ 1 ¥ M TTGT &4 Yigh Bre/ o bl o1l 3Ty
1 FH T At = H B1eT S | lﬁﬁrgwaﬁﬁmﬁzﬁ%aﬁ%SW

(A) 48 (B) 64

(C) 56 (D) 36
(E) Question not attempted / 3TN U

Three statements are given followed by four conclusioiis, I, i, IIT and IV. Assuming the
statements to be true, even if they seem to be at vartance with commonly known facts,
decide which of the following conclusions logicgtly follow(s) from the statements.
Statements :  (A) All squares are boxes.
(B) Some boxes are colo
(C) Redisacolour.
Conclusions : (I) Some boxes are 1 "
(I1)  Some squares are
(111)
Iv)
(A) Only I follows
(C) Only I follows

(B) Only II follows
(D) Only IV follows

(1) % a7t A )
(V) % S a1 17
(B) ad 11 STET BT &
(D) %ad IV STIET Bl 2
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87 “Mirtunjay 1s planning to buy a test series for the CAT exam. Following are the criteria of
selection for any online portal fixed by him:

1. Must contain 25 Full-length mock tests.

Must contain last 8 years previous year papers.

2
3. Must have more than 10,000 practice questions on the portal
4

han 20 mock tests
zshorthsted

If any portal satisfies all the above criteria except (1) but has mi

and more than 5 previous year papers then he will keep §

5. If any portal satisfies all the above criteria except (3) but has ; e than 8000 practice

(A) It will be selected (B) It wif 7n0t be selected
(C) It will be shortlisted

(D Hé will ask his mentor for selection
(E) Question not attempted ”

“ggra CAT witer & g s e 4

1. 25ww&a@rw%€aﬁ

R T A T v B e A e T

(B) =& T g S
(D) ¥% ST HeX & 97 % fo1g T

(E) aﬂﬂﬁ‘d G|
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88 “Mr. Yogendra Kumar is looking for a tenant for a vacant 3BHK flat in Lakhsami Nagar,
Delhi. He has fixed some criteria for the selection of tenants for his flat.
a.  Must have less than 5 members in the family.
b.  All family members should be vegetarian.

c.  Must be an Indian national.
d.  Ifany tenant family satisfies all the above criteria except (a) but has NOA more than 4
adults in the family and the rest are children then he will ask ius soft. for the same.
e. Ifany tenant family satisfies all the above criteria except’ﬂ(b but doe:s NOT cook non-
Veg at home then he will ask his wife for the same.
Mr. Mohan Prasad is an Indian national and looking for g
He lives with his wife, mother, father and 6 years son an
All his family members are vegetarian.
Which of the following is correct for the selection®of M Mohan Prasad as tenant by
Mr. Yogendra Kumar?”
(A) He will be selected
(B) He will not be selected
(C) Mr. Yogendra Kumar will ask his wife
(D) Mr. Yogendra Kumar will ask his SOt
(E) Question not attempted '

in Lakhsami Nagar, Delhi.
: ea, daughter.

“AM e AR el & dqed T @ 3BHK we % Rig R @ qens a7 @ ¥ |
TR 3T Wz % e RERRIETRY % T Y BB Aee ad PR ¥ |

a. ufEm ¥ 5 ¥ HH g I ey

b. uiar % w aawr amerErd

c.  TTdE hH AW AR |

d.  aft B frEer “‘iﬁ'(@).,.ﬁ@wmaﬁmﬁww% AT afER F 49

ST e € Al A 3O 9 | gHeh forg gu |

TG TIXIP {b) % Brest Tuier G TS B U BT S, AR EX O AT
Hé’rq'ob‘lm% %aﬁuﬁr@rsﬂ%ﬁmiﬁ |

> Tt TR ¥ oK wet T, ﬁﬂhﬁ@lﬁ?ﬂ%w&ﬁ% Ei am-v?rqx—vﬁ

(D). A i e ored 42 4 g
(E) ergafa ue
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89 “Rony is a model and looking for a personal gym trainer. Following are the selection criteria
for a candidate to get selected for the role of a personal Gym trainer for Row

a.  Must have completed Bachelors.
Must have work experience of at least 3 years as a Trainer.

c.  If a candidate fulfills criteria (a) and NOT (b) but have dong a%dip Ma course in
personal training, then he will keep that person shortlisted. *

d. Ifacandidate fulfills criteria (b) and NOT (a) but has done & degree Course in nutrition
and dietetics, then he will ask his manager.

Mikal has done a diploma course in personal training an he.has years’ experience as a

gym trainer and he is a graduate from a premier institu

Which of the following option below is correct for t ction of Mikal?”
(A) He will be selected
(B) He will not be selected

(C) He will keep that person shortlisted
(D) He will ask his manager.
(E) Question not attempted

ﬁ@%%ﬁ?@ﬁ?ﬁﬁﬁiﬂﬁ%ﬁﬂ T 1A % forg e aferma o 2R Y et ¥
U IHEAR % 99 % g 9a %Wﬁﬁﬁ%ﬁ%

a. T OO e A AT
b.  wftes % w1 H HA-H—FH S, 1 HRE FgaE B AR
aﬁaﬁéwﬂaﬂﬂqﬁa@ aﬁ{uw%aﬂﬂb)aﬁwﬂé’rw% AfepT SafeRaTa widnetor o

aﬁaﬁémﬁqﬁa@(ﬁ)aﬁww%aﬂﬂawﬁwﬁw%,éﬁﬂﬁwaﬂTm‘éﬁw
fr%tﬁa?lﬁﬁw% @ra‘s’am%rﬁﬁvﬂﬁiﬁwm

A©) Ersw R B TERTE 0 T
D),.#% e BT & g
(E) ergar ued
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90

“Vipul is shortlisting Universities for the master’s program. He has decided following criteria
for the selection of any University:

a Must be situated in the USA or UK.
b.  Must provide master’s in management program.
Must have a tuition fee of less than USD 30,000.

If any University fulfill all the criteria except (a) but is situa 'n.d 1 "%Austraha then he
will ask his brother for the selection of University. i

e

&~

e.  If any University fulfill all the criteria except (c) but providg-at least 60% - 80%
scholarship on tuition fee, then he will ask his fathe; forﬂfthe niversity selection.

les'a master’s in management
fee for the master’s program

(A) It will be selected
(C) He will ask his father
(E) Question not attempted

a.
b.

C.

&~

Eﬁwmﬁﬂﬁwﬁa@aﬁ{uw%éﬁﬁmﬁmﬁﬁaﬁ%a
ol % =g % Rag g
,:3;;:('C)a%@WWH3ﬁWHﬁ%3faﬁT{TWT%,ﬁﬁﬁ'@@ﬁqﬁ'ﬂﬂ

(B) @fﬂmﬂé’rw@ﬂ
(D) I o9 TS | T
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91

“Following is the selection criteria for a candidate to get selected for the role of Chief
Information Officer (CIO) in an organization Finotech:

Must have done B.Tech in computer science with at least 60% marks.

a
b.  Must have done MBA in operations.

°

Must have work experience of at least 2 years as an IT officer,

If a candidate fulfill all the criteria except (a) but has done BC) witli:80% marks, then
the case will be sent to the CEO of the company. :

e. If the candidate fulfill all the criteria except (b) but have m
experience, then his case will be sent to the HR Ma

o

Javed has apphed for the post of CIO in Finotech. He h s Co ",,eted his B.Tech with 76%

(A) He will be selected

(B) He will not be selected

(C) His case will be sent to the CEO

(D) His case will be sent to HR Manager

(E) Question not attempted

wwww@ww O)asf"gﬁqmgazrﬁaaﬁaamwﬂwasmw
e Frfaiad ¥ ¢ :

. HA-A-FT 60% T % wyEtiay aied § B.Tech fpar & |
b.  aifweer § MBA fisun 2 snfay
IT sttt 3 o A F4-8-% 2 af w1 wrd oy a1 e |

Hﬁﬂﬁé?ﬂﬂﬂaﬂ 3T GHT AGS! &l X HIAT 8, Wi 80% it % @ BCA
CEO &1 S <Ima |

aﬁ'wé’laﬂ )aﬁwmaﬁwﬁﬁaﬁww%,éﬁﬁsﬁﬁmﬁwmmﬁw

o
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92 Four friends Sachin, Rachit, Raj and Pintu live on separate floors of a 4-floor building, but
not necessarily in the same order. The ground floor is numbered 1, the first flopris numbered
2, and so on until the topmost floor is numbered 4. Sachin does not live on an éven imbered
floor. Only three friends live below the floor on which Pintu lives. Rachltg Lyes 1mmed1ately
above Sachin.Which floor does Raj live on? Lo

(A) 18t (B) 2nd
(© 3 (D) 40

(E) Question not attempted

IR 3 A, Waa, T SR U2 0% 4-9 ard 7a & STa— eﬂwwﬁﬁ T 8, ThT STe el
sl T ¥ & | T WK B ge 1Y, B TR %) ge 2, el qe s S % e &)
AT 43 IW@WH@TWWW:@W% |fife for Tl MY & & S ST et it

(A) wed
(C) Ex
(E) ergar ued

93 In the following question contains foulgg.;p;
b, ¢ and d. Select a figure from amon
series as given in the problem figurgs.
et ot =T e s ] gl e s sl ¥, 5l a, b, ¢, 377 d & fafea fam
? | SR STl § W 5 U T T b { S SEN G bl ST Tl it Goea sgpierat & &1 g
¥

Problem Figures / qu&n '

<

lem figures and four answer figures marked a,
e ‘ahswer figures which will continue the same

Q

(d)

(B) b
o) D) d
(E) Question not attempted / 3TN U
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94 In the following question contains four problem figures and four answer figures marked a,
b, ¢ and d. Select a figure from amongst the answer figures which will cont1 le the same
series as given in the problem figures. :
frrafafed we7 ® O ww sgphadt o 9 S g faal &, e a, b, ¢ g @r?d%a%enw
%lﬁ?@@%@ﬁﬁwwm@%mwaﬁﬁw%aﬁw&@ﬂﬁﬁwm@%ﬁﬁ%ﬂé
2|

Problem Figures / @@ smfadr

0eIdoCaN4oO 08

Answer Figures / 3T Srptaal

B400[04SE|0SN0S <

(a) (b) (c) (d)
(A) a
©) ¢
(E) Question not attempted / aﬂﬂﬁ‘d 8

95 In the following question contains: prc
b, ¢ and d. Select a figure from amgong; the answer figures which will continue the same
series as given in the problem ﬁgure' 3

P weel 2 ST ST ST Al AT S st ¥, B a, b, o o d faf R T 3
W@Wﬁﬁwwaﬂﬁwwaﬁwﬁﬁréﬁﬁaﬁw&@ﬂﬁwﬁwa@%@ﬁﬁnﬁ

2 |
Problem Figures / @

(2 (0] (© @

(B) b
(D) d

(E) Question not attempted / 3TN U
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Read the passage given below and answer questions that follow : (Q. No. 96-97)

Itis 50 years since the Architects Act (1972) was passed to help build the moderm profession
of architecture. Architects have made steady progress since then, established contenip ry'%desrgn S
value and expanded their professional base. There are now about 1,26,000 registered arChitects,
with around 10 000 new registrations every year. However instead of effusﬁng ':géon:ﬁdence and

the road ahead. Equally perplexing are the solutions proposed and ohartmg the path itself. There
are many who want to seek the legal route, amend the Act and g,emand it the state protect the

notions of “profession’ built on narrow Jurlsdrctronal boq;nda,rles and focus on broad-basing practice,

investing in internal cohesion, and improving professional’€thics and quality of services. The
path to securing a professional Actin architecture § notueasy Architecture emerged as a distinct
profession and formed an influential associatiop in th jth century in the United Kingdom, but
that was not the case in India. There were not enpugh architects or institutions to ensure parallel
development. The first national-level association®gf architects was formed in 1929 with 158
members, many of whom were in Bombay. When professionalisation picked up momentum after
Independence, and professional legislation“sych as the Dentists Act in 1948 and Indian Medical
Council Act in 1956 were passed, it £ aged architects to revive their demands and struggle;
they finally got their Act in 1972

96 Which of the following statements about the architectural profession in India could be
inferred from the passdge?

1. It became a préfesgional course in 1972, thanks to the Architects Act that came into
being that ygar.

2. Since 1972 on an average 10,000 new architects are acquiring a professional

quahﬁcatron ually.
3. ton‘has not developed since 1972 and continues to struggle to be recognised
fessional qualification on par with engineering.
4, ite continues to utterly neglect the profession and there is no clarity about the

ients being proposed by it to the Architects Act (1972).
he last 50 years since the passing of the Architects Act (1972) India has seen the
+, emegrgence of 126,000 new professional architects.
1,2,3,4and 5 (B) 4and>5
¥+, 3 and 4 (D) None of these
(E) Question not attempted
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97  Which of the following cannot be construed as an opinion of the author in the context of
the passage?
(A) Pursuing a legal course of action whenever there are multitudinous professional
grievances to address is futile in India. ,
(B) Improving professional ethics and quality of services will be a sure-
success of every architect. )
(C) Excellence in any professional field cannot be guaranteed mplyk y passing an Act
that recognises the profession and thus lends it credibility

(D) All of these
(E) Question not attempted

e guarantee for

Read the passage given below and answer questions that follow :

(Q. No. 98-100)

ce? Wilat can India offer and seek from a multilateral
Tise to intra generational intergenerational and

So far, only South Africa's deal mentions a 'just’ component
employment opportunities in the coal mining regions to be

ntries on coal phase-down, without adequate attention to country context,
icjal difference in energy transition between industrialised and emerging

addressing sighitficant simultaneous growth in energy demand. The Central Electricity Authority
projéig;ts a near doubling of electricity demand by 2030. A country that is likely to multiply its
energng””’der"iiand requires adequate supply from a diverse mix of sources. India cannot afford to
put its development on hold while decarbonising.
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98

99

100

Which of the following statements about JET-P are specifically implied in the passage?

1. It is not suitable for India as its socio-economic complexities are way.t9o different
from those existing in countries such as South Africa, Indonesia and Vietit ty which
have successfully adopted this mechanism.

2. Developing countries desirous of forging a deal under this mechanism must ﬁrst assess
their needs in the context of their own internal situation and the challénges unique to
their country. g

3. It is an unidirectional partnership with the developed coun igs 3
developing countries as receivers. o

4.  Only three developing countries have so far availed of thls b
a certain new condition in the Glasgow Pact will shake
candidates looking to avail of the same.

5. It could be a clever move of the developed countries, cameuflaged as an olive branch
but designed to fulfil their own selfish motives roi}e in the developing countries.

(A) 1,2and3 (B) 1, 2 arid-4+

(C) 2and 4 (D) §2:3, 4 and 5

(E) Question not attempted

givers and the

efit, but the insertion of
more difficult for new

As per the passage which of the following isfare ¢ allenges likely to be faced by developing

countries seeking to forge a JET-P alliancg w1th thie developed countries?

1. Having to deal with the income g ies that are likely to develop, between the
currently coal-producing and the.other régions, in the event of adopting 'phase-down’
measures.

2. Not being able to think of suitable alternative energy options/sources that could
adequately make up for afiy loss of coal energy.

3. Not having able and knowledgeable negotlators in the teams designated to 1nteract

5. Not being e{f)le to afford the cost of loans that the developed countries are offering

(A) 1,2 and*?zt
©) 1,2,3, 4 and:
cstipn not attempted

(B) 2,3 and 4
(D) land 4

As pet-the pas age which of the following is a significant and justified expectation from the
deyéloping countries seeking financial assistance from developed countries under JET-P?
That‘'the developing countries must stop mining coal and using it as an energy source.
(B) “That the developing countries must have in place a just energy transition (JET) strategy.
) Both (A) and (B)

(D) Neither (A) nor (B)

(E) Question not attempted
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